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3. H66 L 5: ijxf = Zx]mf + ijxf — Zx?xj = ijTx] + ijij
j=1 j€S igs j=1 jes ¢S
4. H 66 I 10: Sherman-Morroson-Woodbury — Sherman-Morrison-Woodbury
5 H66 T8 - (XTX) ' XEys — (XTX)™' = f— (XTX) ' XTys+(XTX)"!
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H81 2&EHDLDEA: library (MASS) ZiBHN
H 81 2#%&HD I 6: log(res$value) — log(res$value/n)
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. H104 1 50 v 75 A 2-31TH: seq(0,100,0.1) — seq(0,200,0.1), x1im=c(0,100) —
x1im=c(0,200)

7. H105 X 5.6 D¥ v 7> a>: (5.4) DED — (5.6) DED
8. H 105 & 6: §; = Biwiy + Powio — i = Frzin + Pawisn
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1.E113L2(6.1)y{ m=1,2,...
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1+e, 2m -2 <|z| <2m —1

2. H113 78 2'J 4 247H: y=round (x) %%2*2-1+rnorm(n) *0.2 — y=ceiling (x) %%2%2-1+rnorm(n) *0.2

3. Ell5T812 16,17: YJn i)’j—hé 617"',BK+4—),6)().,"',“3](+3

Bi + Bax + Baa? + Pax®, o <z <oy
Bi + Box + Baz? + Paz® + Bs(x — aq)?, ap <z <o
f) Bi 4 Box + Bax® 4 Baxd + Bs(x — ar)® + Be(z — a2)3, az <z < ag
€Tr) =
Bi + Box + Baz? + fax® + Bs(x — an)?
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Bo + Bix + Box? + B3a®, ao <z<a
Bo + Bz + Boz? + B3a3 4 Ba(x — an)?, o <z <oy
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€T =
Bo + Bix + Box? + Bszd + Ba(x — ar)?
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4. H116 6.3HIFH: a <z — ax <=z

5. H 118 il 55: do(x) — dy(z) — da(z) — d3(x), 21,22, 73,24 — a1, 2, Q3,04



6. E 120 F8: A / (¢ (@)Y2dx = A [ (" (x)}2de
7. H121 7027 A 3: for(i in 3:(n-1)) — for(i in 3:n)
8. H 122 Yu 27 4 61TH, [ 64: c(40, 400, 1000) — c(1, 30, 80)

9. H 122 T 2, [i#& 65:
HN = XT(XTX +)\G)'X — H[N = X(XTX +\G)"'x7T

10. H 12358 v 25 4 247H, RifE65 D71 25 4 1217H: O*1*xrnorm(n) — 0. 1*rnorm(n)

Kx(z1,11) Kx(w1,y2) Kx(zi,y3) Kx(z1,21) Kx(z1,22) Kx(21,73)
11. H124 T12: | Ky(22,51) Ka(z2,y2) Ki(z2,y3) | = | Kx(22,21) Kx(z2,22) Ka(z2,73)
Kx(z3,y1) Kx(ws,y2) Kx(xs,ys) Ky(z3,21) Kx(x3,22) Kx(23,23)

12. H 125 fl 60: IERIME — EEfEME
13. H126 E5: Rz cR >z cRP
14. H 126 £ 9: (6.6) — (6.7)

15. H127r Yur o4 T3, H129 v/ 74 217H, 67 v 254 1017H, fE 68 7 mn 2
< . 847H: randn(1) — randn(n)

16. E 127 T 3: hl(fﬂ), hg(fﬂ), hg(fﬂ) — hg(l‘), h4(l‘), h5(l‘)

k+1 k+1
17. E 130 J: 1: Zﬂj(ﬂf — Oéj_Q)S — Zﬁ](x — O[j_g)i
j=3 j=3

18. H 132 fMifH 22 DFEHH: BRAIDIEE — 5 2 THIE, 56 2 THIZ — BAIDIHEIX
19. H 137 [i7# 66: Narayama-Watson — Nadaraya-Watson

20. E 138 MR 67: y; — B(2)T[1, 2] — yi — [1, 2] ()
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1. HM3 BT = 21, ..
2. H144 F5: 58— £
3 HMMSM 75 ¥+ /a2 105612125615
4. H151 X 7.7: HRDOED 217 351H 49 — 1
5. H152 T 9: fi(z),...,f(x) = fi(x),..., fe(x)
6. H153 %67 v 2T 4 7T4TH dim=m — verb dim=r, 1117H plot DF[#¥ LT edge.arrow.size=0.1
7. H156 £6, £9: ry =ry — felzn) = v =78 — Mfp(zN)
8. H156 7125 AR T: res$i — res.max$i
9. H157 5l 70 v ' 4, H 162 [ 74: 11 1TH shrinkage=0.001 % gbm D5 [HUEMT %,

10. H 159 BEE 71: T4 - HD
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1. H164 T 7: fTx; — x;0
2. E 164 T 6, B 178 FI% 75: (B, 8) € RP x R — (By. 8) € R x R?
3. H166 T2 a=—-1/vV2&D wa=1/V2 &P
4. H167 T 10:x =20 ERIZBWVWT = o =29 € RPIZBWVT
5. H167 T 7: (B—6%) < fo(B) = (B—5%) = fo(B)
6. B 168 (8.18): YN auyiz; — SN | auyial
7. H170 E5: a=[ag,....,an] = a=[af, ..., ak]T
8. H 178 [ 75: By + ;8 <0 — yi(Bo +xif) <0

9. H174 F3, M85% v 7> ay, H176 L1, H182[86: SV ANI—FL — S 7 NI —
FIL

10 H177 T 5,7,9: ¢ — ¢
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1. H189 T 6: Ly /A — L2 /LA
2. H191 b4 253 RAZBK ZDERAT - VIRAXBK ZEZT
3. H 193 X 9.6: complete ¥ centroid D X2
4. H 195 T 12-13: ¢; — ¢ (2 f&FT)
5. 195 T 18: ¢ € RN, ¢po € RN ..., ¢, €RY — 61 €RP, ¢y € RP ... 6, € RP
6. B 195 il 85 71 27 Z 4 11THIZ n=100 % AL %
7. H196 F14: amE 9 XD — @@ 8 XD
8. H 196 ffl 86 R 2— F 11T7H: nrow=n — nrow=n
9. H 196 @ pca BID 4 1T7H: t(X)%*%X — t(X)%*%X/n
10. H 199 T 2: HEIE — HIWER

11. H 203 [ 91 31TH: single.complete — dist.single



